| REBSREOLNSE (EHMBE) | 5 v2
20254E7 A & (4t EAERI1EDHA] B LHFPS

PREMTAR SRR B i . 5 LU THIS M S B B (S THE R SN AT L LN SR B S SR | B 12 BIY
2025F TH DM EERABEMNAEELEL-OTEMLE LV LET,
XIS HAEAEEMCDOLTIE, FHMIGMEIEELRE ML -LET,

[ R 44 B <5 5F B B {1l (Fd3A) ] <BFIZRAWSEEE{E>
O M5 58 2 B il +Qvh 15l 4% 5 22 B 1 HAEMBEM | RAEMGEM
SEHEEOEER —1.64 H/kwh =153 0.174 H/kWh | 0.317 F/kWh
FlleE®REDHEKR | —1.59 MA/kwh H#AIEE | 0.169 F/kWh | 0.309 H/kWh
OBREHEERAZEMIL, LTOESYVEESNET,
',%'E{;#ﬁﬁﬁd)i;‘,—é R afes STty FELEEPRFHE A p-% 403 5N--Xiii] PRFHilh 4% 57 2E B
PP IR = ( 48100 — 57500 ) x 0174 =~ 1000 = —1.64
BASERBDOES T PREHE SRR B R B AT PR SRR B
PREMERS IR B = ( 48100 — 57500 ) x  0.169 =~ 1000 = —1.59
QM IBMERAEEMIL. LTOESYVEESNET,
%,'J;T;{;i:{ﬁﬁd)ig—ﬁ EHIGME HEMISME HAETIGHEE i 35 il 4% 57 2& B
ISR = ( — 1122 ) x 0317 =
4#%]',%‘&{#5%30)15—@ RS b Tl HEMISME HAETIGHEE 35 i 4% 57 2& B
ISR = ( — 1122 ) x 0309 =

DDEFIZAWAHESIVEERXICOEELELTIE., L QNEFEIZAWAHIESLIVEERICDEELTIE. UL

TOHREYELE>THYET, TOREYELE>TEYET,
T PR T & S 1) T 53
2025%7H1H
2025428 ~2025%4R ~2025%7A31H

48,100 A/kL F/kWh
R )il 75,324 H/kL o : 0.0048 £BAHi5EFEY M /kWh &1: 0.8288
NG 91,452 A/t B : 0.3759 BREITIEFES F/kWh 62: 01712
EH A X MmE 19,887 A/t v : 0.6725 MEAETIEMIE: 11.22H/kWh

SCEEEMAFMIAE . 57,500 /kL
<EHHIGMEOEEHE>
<FHERBEHIEOEERE> 2AHISEEY x S1+BREHBEFEY X §2

TR X o +FEHINGHRE x B+ R RMEE X v



| REBSREOLNSE (EHMBE) | 5 v2

20255%F78 % (B EASA2E, DS ARETOVNTIADES]  HX2HFPS

PREMTAR SRR B i . 5 LU THIS M S B B (S THE R SN AT L LN SR B S SR | B 12 BIY
2025F TH DM EERABEMNAEELEL-OTEMLELVLET,

(A 52 % A R B M (B2 ]
DPRFHIEE 5 8+ Q51T 4% 95 B4

SEHEEOEER —1.12  MA/kWh

BFRAEEMREDEESR | —1.08 A/kwh

ORPHEERBEMIL. AT OEBYEESNES,

SEHBDIES A PR iR PR
PREMEMS AR = ( 48100 — 57,500
BREEREDES A PR iR PR
PREMEMS AR = ( 48100 — 57,500

QiGHERAREMIL. UTOEBYEESNES,

EBEHRBDES TS HAE IS (S
MG MiERAEEMm = (1287 — 11.22
HAlEEEEDES P A S IR
MG MiERAEEMm = (1287 — 11.22

DDEFIZAWAHESIVEERXICOEELELTIE., L
TOHREYELE>THYET,

TR FHE
202542 4 ~2025%4R
48,100 A/kL
IR A 75,324 A/kL a : 0.0048
SEHLNGE 91,452 A/t B : 03759
YA R AEE 19,887 A/t Y : 0.6725

X ELAE PR 57,5009 /KL

<FHERBEHIEOEERE>
TR X o +FEHINGHRE x B+ R RMEE X v

)

)

)

)

<EEICHWHEAEE >
AR EM | EETISEM

=E 0.174 /kWh | 0.317 F4/kWh

HAlIEE | 0.169 FH/kWh | 0.309 F/kWh

S PR 84T PR AR % B 1
X 0.174 -— 1000 = —1.64
S PR 84T PR AR % B 1
X 0.169 -— 1000 = —1.59
15 8 15 AR % B 1
X 0.317 = +0.52
15 8 15 AR % B 1
X 0.309 = +0.51

QNEFEIZAWAHIESLIVEERICDEELTIE. UL
TOREYELE>TEYET,

1 B
202556 H1H
~2025%6A30H

12.87 B/kWh

EA=L R 12.96 M/kWh d1: 0.8288

BEHiE T 12.42 M/kWh 62: 01712

KEETISME: 11.220/kWh

<FHGMHEEOEEHE>
AMHTH X S1+RBREHMIEFEE X 62



